e Question No.1

Select the correctly spelt word.

Options:

1. Cologiale

2. Coloquial
3. Colloquial
4. Collogiall

5.

Answer : Colloquial

e Question No. 2

Select the most appropriate meaning of the following idiom.

At the end of (one’s) rope

Options:

1. Not having enough rope to pull something up
2.To be in a bad relationship with family members
3.To be at the end of the rope in a tug-of-war match
4. No longer able to deal with a difficult situation

5.

Answer : No longer able to deal with a difficult situation

e Question No. 3

Select the option that can be used as a one-word substitute for the given group of words.

An apparatus used by submerged submarines to see above water

Options:
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1. Kaleidoscope
2. Telescope
3. Periscope
4. Bioscope

5.
Answer : Periscope

Direction:
Select the most appropriate option tofill in the blanks.

Question No. 4

Little Paul wasn’t very healthy. His classmates him because he was different from the rest of the class.

However, his mother always told him thathewas _______.
“You are a special child,” she would say.

Options:

1. hated, separate
2. shunned, unique
3. avoided, original
4. adored, similar

5.
Answer : shunned, unique

Direction:

Parts of a sentence are given below in jumbled order. Arrange the partsin the correct order to form a meaningful
sentence.

Question No. 5
A. to build his life-size statue
B. life has come a full circle for him

C. thanking MCA for deciding
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D. at the Wankhede stadium, Tendulkar said that
Options:

1. ADBC
2.CADB
3.DABC
4. BDCA

5.

Answer : CADB

e Question No. 6

Select the most appropriate option that can substitute the bold segment in the given sentence. If there is no need

to substitute it, select ‘No substitution’”.
She produced the speech very confidently.
Options:

1. No substitution
2. conveyed

3. delivered

4. recited

5.

Answer : delivered

e Question No.7

Select the option that correctly spells the misspelt word in the sentence.
What a disgracefull behaviour! You have beaten up an innocent person.
Options:

1. inocent
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2. behavier
3. disgraceful
4. beeten

5.
Answer : disgraceful

Direction:

Sentences of a paragraph are given below in jumbled order. Arrange the sentencesin the correct order toform a
meaningful and coherent paragraph.

e Question No. 8
A. It usually occurs at midnight or 3:00 a.m.

B. The term also has a modern colloquial meaning that refers to a time of unpredictable or volatile activity, such as

the unsettled, colicky sleep of infants or the final hours of stock trading.

C. Witching hour, also called devil’s hour, in folklore is the time at night when the powers of witches and other

supernatural beings are believed to be the strongest.
D. One of the first references to the witching hour can be found in Hamlet by Shakespeare.
Options:

1. DABC
2.BACD
3.CABD
4. ABDC

5.

Answer : CABD

e Question No. 9

Select the most appropriate option that can substitute the bold segment in the given sentence. If there is no need

to substitute it, select ‘No substitution’.



The tiger loudly pounced on its prey.
Options:

1. No substitution
2. bitterly

3. suddenly

4. calmly

5.

Answer : suddenly

e Question No.10
Choose the word that is opposite in meaning to the bold word.
The disdain in his eyes was a testimony to the fact that he was not in support of the idea.
Options:

1. insolence
2. antipathy
3. hatred

4. approval

5.

Answer : approval

e Question No. 1
Select the most appropriate meaning of the given proverb.
Haste makes waste.
Options:

1. Doing something quickly increases the chance of mistakes.

2. To always be making a profit
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3. Doing something easily can be the reason of mistakes.
4. To always be in a hurry

5.

Answer : Doing something quickly increases the chance of mistakes.

e Question No. 12

Choose the word that is opposite in meaning to the bold word.

He made derogatory remarks about the chef who prepared the food.

Options:

1. Simplistic

2. Simpering

3. Complimentary
4. Derisory

5.

Answer : Complimentary

e Question No. 13

Select the option that can be used as a one-word substitute for thebold group of words.

His father was famous for giving skillful and effective speechesin public

Options:

1. Oratory

2. Spectatorship
3. Authorship

4. Anchoring

5.

Answer : Oratory

Direction:
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Select the most appropriate option tofill in the blanks.

e Question No. 14

“Sorry Madam,” Aarya said meekly. “That is okay, but | can’t let you in. A rule is a rule,” Mrs. D’'Souza said

Suddenly, tears emerged in the corner of Aarya’s eyes as she waited outside the class. Her friends felt

about her.
Options:

1. fiercely, troubled

2. assertively, concerned
3. calmly, involved

4. forcibly, attentive

5.

Answer : assertively, concerned

e Question No. 15
Replace the bold word in the given sentence with the most appropriate synonym from the options listed below.
Rescue workers hastily evacuated the residents from the area before the storm hit the coast.
Options:

1. hurriedly
2. abruptly
3. patiently
4. carefully

5.

Answer : hurriedly

e Question No. 16

Replace the bold word in the given sentence with the most appropriate synonym from the options listed below.



0D
ixam Pees @

The agenda of the meeting was to nullify the Reform Act of 1833.
Options:

1. rectify
2. ratify
3. repeal
4. amend

5.
Answer : repeal

Direction:

Read the given passage and answer the questionsthat follow.

Flexibility and mobility are essential not only to reduce the risk of injuries but to generally feel better. Living a nine
to five desk life can be demanding on health and wellness. Here is how you can keep the most common problems

at bay.

Even if you are not exercising you need to make sure that you maintain correct posture and sit at your desk in the
right way. It is important that your chair is placed correctly and your legs are not left hanging. Proper alignment

ensures that your neck and back are not strained.

Exercises and abdominal crunches two to three times a week can strengthen the core. It will help take the pressure
off your back and will make it easier to maintain good posture. Chairs with a back that support your upper back are

preferable for those who work long hours in front of screens.

Constant typing, writing reports, and answering e-mails can exert your wrists leading to longterm damage. The
frequency of your use and how you position your wrists at your keyboard can be a reason. The telltale signs of

exertion would be a tingling sensation or numbness.

One should not ignore initial signs. Make sure that you rest your wrist at regular intervals. To relieve tension quickly
fold your hands in a namaste in front of your chest with elbows moving out and lower your hands till you feel a

good stretch in your wrists. Also rotating your fists inside and outside provides much relief to strained wrists.

Since those who work on desks spend a lot of time looking at a computer screen, they are at a risk of straining their
eyes. This may also lead to dry eyes and fatigue. Poor eyesight is the result of continued and improper exposure to

screens. Keeping the computer screen at an optimal distance helps a lot in minimising strain to eyes. The screen
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shouldn’t be too close or too far. To ease eye strain use good lighting and make it a point to look at a distance away

from your screen every twenty to thirty minutes.

Question No. 17
Select the word from the passage that means ‘adjustment’.
Options:

1. Exposure
2. Sensation
3. Alignment
4. Posture

5.
Answer : Alignment

Direction:

Read the given passage and answer the questionsthat follow.

Flexibility and mobility are essential not only to reduce the risk of injuries but to generally feel better. Living a nine
to five desk life can be demanding on health and wellness. Here is how you can keep the most common problems

at bay.

Even if you are not exercising you need to make sure that you maintain correct posture and sit at your desk in the
right way. It is important that your chair is placed correctly and your legs are not left hanging. Proper alignment

ensures that your neck and back are not strained.

Exercises and abdominal crunches two to three times a week can strengthen the core. It will help take the pressure
off your back and will make it easier to maintain good posture. Chairs with a back that support your upper back are

preferable for those who work long hours in front of screens.

Constant typing, writing reports, and answering e-mails can exert your wrists leading to longterm damage. The
frequency of your use and how you position your wrists at your keyboard can be a reason. The telltale signs of

exertion would be a tingling sensation or numbness.

One should not ignore initial signs. Make sure that you rest your wrist at regular intervals. To relieve tension quickly

fold your hands in a namaste in front of your chest with elbows moving out and lower your hands till you feel a
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good stretch in your wrists. Also rotating your fists inside and outside provides much relief to strained wrists.

Since those who work on desks spend a lot of time looking at a computer screen, they are at a risk of straining their
eyes. This may also lead to dry eyes and fatigue. Poor eyesight is the result of continued and improper exposure to
screens. Keeping the computer screen at an optimal distance helps a lot in minimising strain to eyes. The screen
shouldn’t be too close or too far. To ease eye strain use good lighting and make it a point to look at a distance away

from your screen every twenty to thirty minutes.

Question No. 18
One of the reasons for poor eyesight is:
Options:

1. continued exposure to screens

2. lack of flexibility and mobility

3.injuries and lack of exercise

4. use of adequate lighting in the work space

5.
Answer : continued exposure to screens

Direction:

Read the given passage and answer the questionsthat follow.

Flexibility and mobility are essential not only to reduce the risk of injuries but to generally feel better. Living a nine
to five desk life can be demanding on health and wellness. Here is how you can keep the most common problems

at bay.

Even if you are not exercising you need to make sure that you maintain correct posture and sit at your desk in the
right way. It is important that your chair is placed correctly and your legs are not left hanging. Proper alignment

ensures that your neck and back are not strained.

Exercises and abdominal crunches two to three times a week can strengthen the core. It will help take the pressure
off your back and will make it easier to maintain good posture. Chairs with a back that support your upper back are

preferable for those who work long hours in front of screens.
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Constant typing, writing reports, and answering e-mails can exert your wrists leading to longterm damage. The
frequency of your use and how you position your wrists at your keyboard can be a reason. The telltale signs of

exertion would be a tingling sensation or numbness.

One should not ignore initial signs. Make sure that you rest your wrist at regular intervals. To relieve tension quickly
fold your hands in a namaste in front of your chest with elbows moving out and lower your hands till you feel a

good stretch in your wrists. Also rotating your fists inside and outside provides much relief to strained wrists.

Since those who work on desks spend a lot of time looking at a computer screen, they are at a risk of straining their
eyes. This may also lead to dry eyes and fatigue. Poor eyesight is the result of continued and improper exposure to
screens. Keeping the computer screen at an optimal distance helps a lot in minimising strain to eyes. The screen
shouldn’t be too close or too far. To ease eye strain use good lighting and make it a point to look at a distance away

from your screen every twenty to thirty minutes.

Question No. 19
For someone doing a nine to five desk job, it is important to:
Options:

1. have chairs that support the upper back

2. let the back take the maximum pressure
3.ignore the common numbness of the fingers
4. let the legs dangle freely

5.
Answer : have chairs that support the upper back

Direction:
Read the given passage and answer the questionsthat follow.
Flexibility and mobility are essential not only to reduce the risk of injuries but to generally feel better. Living a nine

to five desk life can be demanding on health and wellness. Here is how you can keep the most common problems

at bay.

Even if you are not exercising you need to make sure that you maintain correct posture and sit at your desk in the

right way. It is important that your chair is placed correctly and your legs are not left hanging. Proper alignment
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ensures that your neck and back are not strained.

Exercises and abdominal crunches two to three times a week can strengthen the core. It will help take the pressure
off your back and will make it easier to maintain good posture. Chairs with a back that support your upper back are

preferable for those who work long hours in front of screens.

Constant typing, writing reports, and answering e-mails can exert your wrists leading to longterm damage. The
frequency of your use and how you position your wrists at your keyboard can be a reason. The telltale signs of

exertion would be a tingling sensation or numbness.

One should not ignore initial signs. Make sure that you rest your wrist at regular intervals. To relieve tension quickly
fold your hands in a namaste in front of your chest with elbows moving out and lower your hands till you feel a

good stretch in your wrists. Also rotating your fists inside and outside provides much relief to strained wrists.

Since those who work on desks spend a lot of time looking at a computer screen, they are at a risk of straining their
eyes. This may also lead to dry eyes and fatigue. Poor eyesight is the result of continued and improper exposure to
screens. Keeping the computer screen at an optimal distance helps a lot in minimising strain to eyes. The screen
shouldn’t be too close or too far. To ease eye strain use good lighting and make it a point to look at a distance away

from your screen every twenty to thirty minutes.
e Question No. 20
The passage is mainly about:

Options:

1. how to maintain a good eyesight

2. consequences of working on computers

3. how to keep good health while doing a desk job
4. the right type of furniture for office use

5.

Answer : consequences of working on computers

e Question No. 21
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Exam of each of P, Q, R, S, T, U and V is on a different day of a week starting from Monday and ending on Sunday.
P's exam is on Tuesday. Q's exam is on the day immediately after U's exam. Only three persons have their exam
between the exam of U and T. V's exam is immediately after Q's exam. Only two persons have their exam between

the exam of P and U. R's exam is not on Thursday. On what day is S's exam?
Options:

1. sunday

2. Thursday

3. monday

4. Wednesday

5.
Answer : Thursday

Direction:

A group of numbersand symbolsis coded using the letter code as per the code given below followed by the
conditions. Study the given code and termsand answer the following question.

oY

venvda |6 |$ |9 |& [+ (2 |5 @ |8 |# |3 |% |7
e PIH|F |A|K|u |z |c [w]|s|x|a

Question No. 22

Conditions - (i) If the second element is a symbol and the fourth element is an even number, then the codes of

these two (second and fourth elements) have to be interchanged.

(ii) If both the first and fourth elements are odd numbers, then both of them (first and fourth elements) are to be

coded as ©.

(i) If both the second and third elements are symbols, then the third element is to be coded as the code for the

second element.

What will be the code for the following group?

9557&

Options:
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1.FBHZA
2©ZHB®©
330ZHOA
4FZZBA

5.

Answer:© ZHO®© A

e Question No. 23
127.08 - [17.02 + 3 of (6.50 - 0.5 x 2.02)] =7
Options:

1.935
2.105.5
3.855
4.100.5

5.

Answer : 93.5

e Question No. 24

Select the option figure which has the given figure embedded as its part (rotation of the figure is not allowed).
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3.
~
4.
Options:
1.1
2.2
3.3
4.4
5.
Answer: 3

e Question No. 25

The figures given below show the sequence of folding a piece of paper and the method of cutting the folded

paper. What will the paper look like when it is opened?
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rmemd

“AGeD

Options:

1.1

2.2
3.3
4.4

5.

Answer : 1

Direction:

Read the given statements and conclusions car efully. Assuming that the information given in the statementsistrue
even if it seemsto be at variance from commonly known facts, decide which of the given conclusionslogically
follows from the statements. .

e Question No. 26



statement:

All parrots are owls.

Some parrots are birds.

All birds are lions.

conclusion:

|. Some lions are owls.

IIl. Some parrots are lions.

Ill. Some owls are birds.

Options:

1. Both conclusions | and Il follow.

2. Conclusions |, [l and IlI follow.

3. Both conclusions Il and Il follow.

4. Both conclusions | and Ill follow.

5.

Answer : Conclusions I, Il and Ill follow.

Question No. 27

Which of the following words is not a jumbled word of a river in the world?

ILNE

HAESMT

EXMICO

ANGGA

Options:

1. HAESMT

ixam
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2. ANGGA
3.ILNE
4. EXMICO

5.
Answer : EXMICO

Direction:

In this question, one statement is given followed by two conclusions. Decide which of the two conclusionsis/are
correct?

Question No. 28

statement: Q>R=S=V=Y>H

conclusion:
1.Q

.Y
Options:

1. Only conclusion | is correct

2. Only conclusion Il is correct

3. Both conclusion | and Il are correct

4. Neither conclusion | nor conclusion Il is correct

5.

Answer : Only conclusion Il is correct

Question No. 29

What will come in place of '?" in the following equation, if '+' and '-' are interchanged and 'x' and '+' are

interchanged.
125-75+15+6x%x3=7

Options:
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1. 80
2.20
3.170

4.230

Answer : 170

Direction:

A statement is followed by two actionsnumbered | and I1. Assuming all that isgiven in the statement to betrue,
decide which of the suggested action(s) (decision to be taken for follow-up/correction regarding the problem)
logically follows:

e Question No. 30

statement:

In Organization-A, the production of Product-X is not sufficient to meet the customer requirements, as the demand

for this product is continuously increasing in the market.

Actions:

|. The demand for Product-

IIl. Organization-A must plan and implement a strategy to increase the production of Product-X so that they can

provide adequate supply to the market.
Options:

1. Both I and Il follow

2. Only | follows

3. Only Il follows

4. Neither I nor Il follows

5.

Answer : Only Il follows

e Question No. 31
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If in the numbers given below, 1is added to each even digit and 2 is subtracted from each odd digit, then what will

be the product of the digits second from the left and third from the right in the new number thus formed?

(left) 56897423 (right)
Options:

1.15
2.45
3.35

4.1

Answer : 35

e Question No. 32

Select the option that most closely resembles the image formed in the mirror of the given combination.
&
i
!
SaRVam |

B

" meVAaz
.. meVHAse
I 29 KA W
L meANdse

Options:

1.1
2.2
3.3
4.4

5.

Answer: 2
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e Question No. 33

Select the option in which the letter-groups show the same relationship as shown by the given pair of letter-

groups.
NEV : PDW
Options:

1. CNX: FQA
2.BLV:EJX

3.TZD: QXJ
4.0YH : QXI

5.

Answer : OYH : QXI

e Question No. 34
Select the letter-cluster from the given alternatives which can replace the question mark (?) in the following series.
AVB, DWE, GXH, ?, MZN
Options:

1 JYK
2. JXM
3.KYJ
4. JKK

5.

Answer : JYK

e Question No. 35

Select the number from the given alternatives that can replace the question mark (?) in the following series.
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22, 25,35, 59,104, ?
Options:

1.172
2.179
3.175
4.177

5.

Answer : 177

e Question No. 36

Select the correct water image of the given pattern, assuming that water is parallel to XY.

CAD =B

3 =3

SV O—BX
t VOB
VOB
SV O—BS&

Options:

11
2.2
3.3
4.4
5.

Answer : 1
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e Question No. 37

Select the figure from the options given below that can replace the question mark (?) and complete the pattern.

? ‘

Options:

1.1
2.2
3.3
4.4

5.

Answer : 1

e Question No. 38

Select the number from the given alternatives that can replace the question mark (?) in the following series.

0, 6, 24, 60,120, ?

Options:

1.215
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2.220
3.210

4.200

Answer : 210

Question No. 39

Three of the following pairs of letters follow a certain rule/logic/relation and hence are alike in a certain way. Select

the incongruous one from the given options.
Options:

1. RVK: [EP
2.GTH: TJS
3.PMJ: KNQ
4.LSV : OHE

5.
Answer : GTH: TJS

Direction:

A group of numbersand symbolsiscoded using the letter codes as per the code given below followed by the
conditions. Study the given code and terms and answer the following question.

gamdi® |4 |& [5 |9 |# |+ |3 |% @ |8 [s |2
@ H|J |P|R |D |5 |E |K |C |VIN|B|Z

Question No. 40

Conditions - (i) If the second element is a symbol and the last element is a number, then the second and last

elements are to be coded as ©.

(ii) If the first element is a symbol and the fourth element is an even number, then the codes of these two (first and

fourth elements) have to be interchanged.
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(iii) If both the second and third elements are odd numbers, then the third element is to be coded as the code of

the second element.

What will be the code for the following group?

S57#2

Options:
.NLLDB
22NPPDB
3.NOPDO®
4 DPLNB
5.

Answer:NPPDB

e Question No. 41

The present population of a village is 14000. The population is decreasing at the rate of 2% every two years due to

migration to nearby cities. What will be the population of the village after 2 years?
Options:

1.13445
2.13400
3.13720
4.13446

5.

Answer : 13720

e Question No. 42

If two curves do not touch each other exactly, then how many external common tangents can be drawn?

Options:
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1. Two
2. Four
3.Zero

4. Three

Answer : Four

Question No. 43
Find the value of y.
X+ty-z=6
2Xx+y-z=7
3x+y-2z="1
Options:

1.2

Answer: 2

Question No. 44

A, B and C work in a partnership. A invests 3 times as much as B invests and B invests two-thirds of the investment

made by C. At the end of one year, the profit earned is ¥6,600. Find B's share in profit (in ¥).
Options:

1.1300

2.1200
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3.2900

4.1100

Answer : 1200

e Question No. 45

Rammu is suffering from a disease due to which his weight is losing 5% every month. By what percent will his

weight decrease after four months? (Find the value up to two decimal places)
Options:

1.17.55%
2.19.55%
3.20%
4.18.55%

5.

Answer : 18.55%

e Question No. 46

A shopkeeper gives 4 notebooks free on purchase of 21 notebooks. Calculate what percentage discount a customer

gets?
Options:

1.10%
2.12%
3.16%
4.14%

5.

Answer : 16%
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e Question No. 47

A vegetable vendor bought some vegetables. He sold half of them for 240 with a profit of 20%. For how much

should he sell the remaining vegetables to earn a total profit of 22.5%?
Options:

1.3242
2.3255
3.3245
4.3250

5.

Answer : ¥250

e Question No. 48

If 120 books of uniform size can be kept side by side on a 2.5 m long shelf, then how many books of uniform size can

be kept side by side on a 2 m long shelf?
Options:

1. 60
2.118
3.96
4.122

5.

Answer : 96

e Question No. 49

The average of the observations is 83, the average of 10 more observations is 60 and the average of 15 more

observations is 45. What will be the average of all 32 observations?

Options:
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1.38
2.52
3.46

4.58

Answer : 58

e Question No. 50
If in a 50 km race A beats B by 5 km, B beats C by 5 km, then by how many meters will A beat C?
Options:

1.4050 m
2.9500 m
3.95m
4.405m

5.

Answer : 9500 m

e Question No. 51

A can do a work in 20 days and B in 25 days. If they work together on it for 5 days, the fraction of remaining work is

Options:

1.1/20.

2.21/28
3.21/25
4.21/29

5.

Answer : 1/20.
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e Question No. 52

The cost of 3 pens and 4 pencils is ¥74 and the cost of 2 pens and 3 pencils is T51. What is the cost of 11 pens and 5

pencils?
Options:

1.3205
2.3228
3.3223
4.3210

5.

Answer : 3223

e Question No. 53

There were 40 boys in a class of 96 students. In an examination, the average marks of all the students was 63. If the

average marks of boys was 57.4, what was the average marks of girls?
Options:

1. 68
2.68.6
3.67
4.70.84

5.

Answer : 67

e Question No. 54

A sailor travels a distance of 75 km downstream and returns, taking a total time of 30 hours. If the speed of the boat
in the downstream direction is twice the speed of the boat in the upstream direction, then find the time taken by

the boat to cover a distance of 60 km in still water.
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Options:

113

2.10(2/5)
3.10(2/3)
4.12(1/2)

5.

Answer : 10(2/3)

e Question No. 55

The population of a city is 40,000. If its population decreases at the rate of 5% per year, what will be its total

population after 3 years?
Options:

1.35675
2.36100
3.33210
4.34295

5.
Answer : 34295

Direction:

Study the given pie-chart carefully and answer questions 72 to 74. Pie-chart shows the number of students studying

different subjects in a school. Total number of students is 8000.
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e Question No. 56

Find the number of students studying Mathematics and Physics.
Options:

1.440

2.4300
3.4500
4. 4400

5y

Answer : 4400

e Question No. 57

In a class, the number of girls is 30% more than the number of boys. The total number of boys and girls in the class

is 92. If 4 more girls are admitted in the class, what will be the ratio of the number of boys to the number of girls?

Options:

1.3:5
2.5:3
3.7:5
4.5:7

5.
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Answer:5:7

e Question No. 58

If lines PQ and RS are parallel and angle A = 55° and angle B = 35°, then find the obtuse angle of C.

— —
A
B
+ B Z . -
R 5
Options:
1.270°
2.320°
3.90°
4.150°
5.

Answer : 270°

e Question No. 59

The length of a rectangular plot is 22 m and its area is 440 m% What is its perimeter?
Options:

1.20m
2.94m
3.42m
4.84m

5.
Answer: 84 m

Direction:

The table shows the expenses (in ¥ lakhs) per year of a company in the given years.

0‘6
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What was the average amount of interest the company had to pay per year during this period?

Options:

1. Rs.33.75 lakh

2.Rs.35.68 lakh
3.Rs.38.24 lakh
4. Rs.36.66 lakh

5.

Answer : Rs.36.66 lakh

e Question No. 61

What is the default alignment of numerical values entered into cells of an MS-Excel worksheet?

Options:

1. Left

2. Right
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3. Center
4. Justify

5.

Answer : Right

e Question No. 62

In an MS-Word 2010 document, an email address text string is automatically shown as a hyperlink. To remove this

link, which of the following options will have to be selected after right clicking on it?
Options:

1. Remove Hyperlink

2. Edit Hyperlink

3. Convert to Regular Text
4. Remove Underline

5.

Answer : Remove Hyperlink

e Question No. 63
Which of the following key combinations is used to undo an action in Windows 10?
Options:

1.Ctrl+2Z
2.Ctrl + Tab
3. Alt + Tab
4. Alt+7Z

5.

Answer : Ctrl + Z

e Question No. 64
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Programming languages C++, COBOL and Java were used in which of the following generations of computers?
Options:

1. fourth
2. third
3. First
4. fifth

5.

Answer : third

e Question No. 65

Which of the following keyboard shortcuts is used to format a worksheet using the ‘Format as Table’ style in MS-

Excel 2019?
Options:

1LCtrl+1+T
2Alt+H+T
3.Crl+H+T
4 AlL+1+T

5.

Answer:Alt+H+T

e Question No. 66
Which of the following options is not available to print the document in MS-Word 2010?
Options:

1. Print All Pages
2. Print Add-ins
3. Print Custom Range

4. Print Selection
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Answer : Print Add-ins

e Question No. 67
Which of the following is not an example of a word processor?
Options:

1. WordPad

2. MS-Access
3. MS-Word

4. Google Docs

5.

Answer : MS-Access

e Question No. 68

Which of the following keyboard shortcuts is used to enter a new line in the same cell in an MS-Excel 2010

worksheet?
Options:

1. Alt + Enter
2. Ctrl + Enter
3. Shift + Enter
4. Tab + Enter

5.

Answer : Alt + Enter

e Question No. 69

Which of the following keyboard shortcuts will launch the Start menu in Windows operating system?

0(6



Options:

1. Home

2. Backspace
3. Esc

4. Windows

5.

Answer : Windows

e Question No. 70
Which of the following is optical storage?
Options:

1. Hard disk drive
2. Floppy disk
3.CD

4. Magnetic tape

5.

Answer : CD

e Question No. 71

Which of the following keyboard shortcuts is used to go to the File tab in MS-Word 2010?
Options:

1LAIt+G
2.Alt+H
3.Alt+N
4 Alt+F

5.

Answer : Alt + F

ixam
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e Question No. 72
Which of the following keyboard shortcuts is used to save an MS-Word document?
Options:

1. Ctrl+ N
2.Ctrl+ A
3.Ctrl +B
4.Ctrl +S

5.

Answer : Ctrl +S

e Question No. 73
Which of the following statements regarding the World Wide Web is false?

Options:

0‘6

1. The process of retrieving a webpage from a web server to a user's computer is called ‘downloading".

2. The process of storing a webpage on a web server is called 'uploading'.
3. Web servers are host computers that store thousands of web pages.
4. The last webpage of a website is called the 'homepage'.

5.

Answer : The last webpage of a website is called the &#039;homepage&#039;.

e Question No. 74
The first part of an email addressis __________.

Options:

1. system name
2. mail server

3. username



0D
ixam Pees @

4. domain name

5.

Answer : username

e Question No. 75

Which of the following was the first general-purpose electronic digital computer designed for corporate

applications in the United States?
Options:

1. Z3 machine
2.ENIAC

3. Turing machine
4. UNIVACI

5.

Answer : ENIAC

e Question No. 76

The keyboard shortcut to save a presentation in MS-PowerPoint 2010 is

Options:

1. Ctrl+ A
2.Ctrl +V
3.Ctrl +S
4.Ctrl+ C

5.

Answer : Ctrl +S

e Question No. 77

Identify whether the given statements are true or false regarding computer memory.



(i) Auxiliary memory stores programs and data for future use because it is nonvolatile.
(ii) The most common forms of secondary storage devices are cache and RAM chips.
Options:

1. (i) False, (ii) False
2. (i) True, (i) True
3. (i) False, (ii) True
4. (i) True, (ii) False

5.

Answer : (i) True, (ii) False

e Question No. 78
Which of the following keyboard shortcuts is used to insert footnote in MS-Word 2010?
Options:

1. Alt + Shift + F
2.Alt +Ctrl+D
3.Ctrl + Alt + F
4. Alt + Shift + F12

5.

Answer : Ctrl + Alt + F

e Question No.79
Firefox web browser is developed by which of the following companies?
Options:

1. Google
2. Apple

3. Microsoft

ixam
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4. Mozilla

5.

Answer : Mozilla

e Question No. 80

is an image that appears on the screen when the computer is left idle for some time.

Options:

1. shortcut menu
2. screen saver
3. wallpaper

4, system tray

5.

Answer : screen saver

e Question No. 81

Select the option which is related to the third word in the same way as the second word is related to the first

word.
Frog : Amphibian :: Whale : ?
Options:

1. fish

2. rodent
3. mammal
4. Creature

5.

Answer : mammal

e Question No. 82
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If I hadn't come here / to learn English, / | wouldn't have make / so many new friends.
Options:

1. so many new friends
2. to learn English

3. If I hadn't come here
4.1 wouldn't have make

5.

Answer : | wouldn&#039;t have make

e Question No. 83

Select the option that shows the correct arrangement of the given words in the order in which they appear in the

English dictionary.
1. Desert

2. Descend

3. Describe

4. Descent

5. Desecrate

6. Descriptor
Options:

1.2,4,6,3,51
2.2,4,3,6,5,1
3.2,4,3,5,6,1
4.2,4,3,6,1,5

5.

Answer:2,4,3,6,5,1
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e Question No. 84

Select the option that indicates the correct arrangement of the given words in the order in which they appear in

the English dictionary.
1) Sitters

2) Situate

3) Sitting

4) Sitcoms

5) Sithens

Options:

12,5341
2.3,2,1,5,4
3.512,4,3
4.4,5,1,3,2

5.

Answer:4,5,1,3,2

e Question No. 85

Five friends, K, J, |, H and G appear in an entrance examination and each of them gets different marks. J gets more
marks than H but less than G. | gets less marks than G. H gets less marks than I. G gets less marks than K. Who

among the five gets the highest marks?
Options:

1H
2.1
3.G

4.K
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Answer : K

e Question No. 86

Select the number from the options which will come in place of the question mark (?) in the following pattern.

&

L&)

Options:

1.96
2.45
3.28
4.82

5.

Answer : 96

e Question No. 87
__ many parents these days can’t say no to their ______ demands.
Options:

1. Too, children's
2. Too, children
3. Two, childs
4.To, children’s

5.

Answer : Too, children&#039;s

e Question No. 88
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Solve the following as per the given conditions using BODMAS: If A means -/, B means '+, C means ‘+ and D means

1,7

X .

24 B

12C

18 A

6D

3D

Options:
1.4
2.2
3.0
4.1
5.

Answer: 2

Question No. 89

From the given options, select the alphanumeric group which will come in place of the question mark (?) in the

following series.
E4, H2, J10, M7, O16, R12, ?
Options:

1.T24
2.T20
3.T21

4.722

5.

Answer : T22
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e Question No. 90

Below are given some parts of a sentence in jumbled order. Arrange the parts in the correct order to make a

meaningful sentence.

A. riding your bike because

B. than regret later

C.it is better to take precautions
D. wear your helmet while
Options:

1. DACB
2.DBCA
3.BDAC
4.CABD

5.

Answer : DACB

e Question No. 91

Study the given pattern carefully and select the number that can replace the question mark (?) in it from the given

alternatives.

A N
s 4 f
&8 & N2 / \‘11 &
/ = -\ / 204
/ \ s Y
' X
i
Options:
1. 8210

2.1676
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3.702

4. 415

Answer : 702

e Question No. 92

If ‘cow' is called 'goat’, 'goat’ is called 'lion’, 'lion' is called 'sheep’, 'sheep' is called 'rat' and 'rat' is called 'monkey',

then who will be known as the king of the jungle?
Options:

1. goat
2. Lion
3. sheep
4. rat

5.

Answer : sheep

e Question No. 93
The guest smiled to me when | entered the room as if he knew me.
Options:

1.on
2. from
3.at
4. by

5.

Answer : at

e Question No. 94
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Select the option which is related to the third word in the same way as the second word is related to the first

word.
Russia : Ruble :: Argentina: ?
Options:

1. dinar
2. kyaat
3. peso
4.von

5.
Answer : peso

Direction:

1. A + B means, A is the mother of B.
2. A - B means, A is sister of B.
3. A * B means, A is the father of B.

4. A & B means, A is brother of B.

Question No. 95
Based on the following information, which of the following means that S is the maternal grandfather of T?
Options:

LV&R&S*T
2T+S*R*V
JV*S*R+T
4T-R&S*V

5.

Answer:V*S*R+T
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e Question No. 96

If in a certain code language ‘SPRINGS' is written as ‘RINSPSG’ and BROUGHT is written as OUGBRTH, then how will
‘FLIGHTS’ be written in that language?

Options:

1. IGHLFST
2. GIHLFST
3. IHGFLST
4. IGHFLST

5.

Answer : IGHFLST

e Question No. 97
Select the number from the given options which will come in place of the question mark (?) in the following series.
17, 38, 80,143, 227, ?
Options:

1.330
2.332
3.334
4.31

5.

Answer : 332

e Question No. 98
Select the misspelled word.

Options:
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1. Laboratory
2. Temperory
3. casual

4. Lien

5.

Answer : Temperory

e Question No. 99

Select the option that indicates the correct arrangement of the given words in the order in which they occur in the

English dictionary.
1) Deceased

2) Decedent

3) Deceases

4) Deceived

5) Deceiver
Options:

1.1,2,4,35
2.3,51,2,4
3.1,3,2,4,5
4.2,4,1,3,5

5.
Answer:1,3,2,4,5

Direction:

Study the given diagram carefully and answer the question. The numbersin different sectionsindicate the number
of people with different occupations.
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e Question No.100
How many people are into shoe designing along with baby sitting?
Options:

1.152

2.189
3.163
4.141

5.

Answer : 141
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